
BOLLETTINO UNIONE MATEMATICA ITALIANA

L. CARLITZ

Combinatorial equivalents of certain theta formulas.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 21
(1966), n.3, p. 234–238.

Zanichelli

<http://www.bdim.eu/item?id=BUMI_1966_3_21_3_234_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

Combinatorial equivalents of certain theta formulas.

by L. CARLITZ (Durham, North Carolina, U S A.)

Summary. - *The paper contains a combinatorial theorem equivalent to the theta formula (5) below.*

Put

$$(1) \quad \prod_{n=1}^{\infty} (1 + x^n y^{n-1}) (1 + x^{n-1} y^n) = \sum_{m,n=0}^{\infty} \alpha(m, n) x^m y^n,$$

so that $\alpha(m, n)$ is the number of partitions of (m, n) into distinct parts

$$(2) \quad (a, a-1), (b-1, b) \quad (a, b = 1, 2, 3, \dots).$$

The writer [1] showed that the JACOBI theta formula

$$(3) \quad \prod_{n=1}^{\infty} (1 - q^{2n}) (1 + q^{2n+1}t) (1 + q^{2n-1}t^{-1}) + \sum_{n=-\infty}^{\infty} q^{n^2} t^n$$

is equivalent to

$$(4) \quad \alpha(m, n) = p \left\{ n - \frac{1}{2}(n-m)(n-m+1) \right\},$$

where $p(n)$ denotes, as usual, the number of unrestricted partitions of n . E. M. WRIGHT [4] has given a combinatorial proof of (4); CHEEMA [2] has given a combinatorial proof of a different formula that is also equivalent to (3).

It may be of interest to state combinatorial equivalents of other identities involving theta functions. For simplicity and concreteness we shall limit ourselves to the following identity [3, p. 468]:

$$(5) \quad |3\rangle + |4\rangle = |3'\rangle + |4'\rangle,$$

where

$$|r\rangle = \vartheta_r(n) \vartheta_r(x) \vartheta_r(y) \vartheta_r(z),$$

$$|r'\rangle = \vartheta_r(n') \vartheta_r(x') \vartheta_r(y') \vartheta_r(z'),$$

and

$$(6) \quad \begin{cases} 2w' = -n + x + y + z \\ 2x' = n - x + y + z \\ 2y' = n + x - y + z \\ 2z' = n + x + y - z. \end{cases}$$

We recall that

$$\vartheta_3(x) = \prod_{n=1}^{\infty} (1 - q^{2n}) (1 + q^{2n-1} e^{ix}) (1 + q^{2n-1} e^{-ix}),$$

$$\vartheta_4(x) = \prod_{n=1}^{\infty} (1 - q^{2n}) (1 - q^{2n-1} e^{ix}) (1 - q^{2n-1} e^{-ix}).$$

If we put

$$(7) \quad a = e^{2iw}, \quad b = e^{2ix}, \quad c = e^{2iy}, \quad d = e^{2iz},$$

{3} and {4} become

$$\prod_{n=1}^{\infty} \{ (1 - q^{2n})^4 \prod_{a,b,c,d} (1 + q^{2n-1} a) (1 + q^{2n-1} a^{-1}) \}$$

and

$$\prod_{n=1}^{\infty} \{ (1 - q^{2n})^4 \prod_{a,b,c,d} (1 - q^{2n-1} a) (1 - q^{2n-1} a^{-1}) \},$$

respectively. Thus (5) becomes

$$(8) \quad \begin{aligned} & \prod_{n=1}^{\infty} \prod_{a,b,c,d} (1 + q^{2n-1} a) (1 + q^{2n-1} a^{-1}) + \\ & + \prod_{n=1}^{\infty} \prod_{a,b,c,d} (1 - q^{2n-1} a) (1 - q^{2n-1} a^{-1}) = \\ & = \prod_{n=1}^{\infty} \prod_{a,b,c,d} (1 + q^{2n-1} a') (1 + q^{2n-1} a'^{-1}) + \\ & + \prod_{n=1}^{\infty} \prod_{a,b,c,d} (1 - q^{2n-1} a') (1 - q^{2n-1} a'^{-1}), \end{aligned}$$

where

$$(9) \quad a' = e^{2iw'}, \quad b' = e^{2ix'}, \quad c' = e^{2iy'}, \quad d' = e^{2iz'}.$$

We now put

$$(10) \quad q = xx_0x_1x_2x_3x_4$$

and

$$(11) \quad a = x_0 x_1 x_2^{-1}, \quad b = x_0 x_2 x_3^{-1}, \quad c = x_0 x_3 x_4^{-1}, \quad d = x_0 x_4 x_1^{-1}.$$

Then by (6), (7), (9) and (11) we have

$$(12) \quad a' = x_0 x_1^{-1} x_2, \quad b' = x_0 x_2^{-1} x_3, \quad c' = x_0 x_3^{-1} x_4, \quad d' = x_0 x_4^{-1} x_1.$$

Substituting from (10) and (11), the left member of (8) becomes

$$(13) \quad \prod_{n=1}^{\infty} \prod_{1, 2, 3, 4} (1 + x^{2n-1} x_0^{2n} x_1^{2n} x_2^{2n-2} x_3^{2n-1} x_4^{2n-1}) \\ (1 + x^{2n-1} x_0^{2n-2} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}) \\ + \prod_{n=1}^{\infty} \prod_{1, 2, 3, 4} (1 - x^{2n-1} x_0^{2n} x_1^{2n} x_2^{2n-2} x_3^{2n-1} x_4^{2n-1}) \\ (1 - x^{2n-1} x_0^{2n-2} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}),$$

where $\prod_{1, 2, 3, 4}$ indicates that the product is extended over the cyclic permutations of 1, 2, 3, 4.

Similarly, by (12), the right member of (8) becomes

$$(14) \quad \prod_{n=1}^{\infty} \prod_{1, 2, 3, 4} (1 + x^{2n-1} x_0^{2n} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}) \\ (1 + x^{2n-1} x_0^{2n-2} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}) \\ + \prod_{n=1}^{\infty} \prod_{1, 2, 3, 4} (1 - x^{2n-1} x_0^{2n} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}) \\ (1 - x^{2n-1} x_0^{2n-2} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}).$$

If we put

$$(15) \quad \prod_{n=1}^{\infty} \prod_{1, 2, 3, 4} (1 + x^{2n-1} x_0^{2n} x_1^{2n} x_2^{2n-2} x_3^{2n-1} x_4^{2n-1}) \\ (1 + x^{2n-1} x_0^{2n-2} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}) \\ = \sum_{n, n_0, \dots, n_4=0}^{\infty} \alpha(n, n_0, n_1, n_2, n_3, n_4) x^n x_0^{n_0} x_1^{n_1} x_2^{n_2} x_3^{n_3} x_4^{n_4},$$

it is clear that $\alpha(n, n_0, n_1, n_2, n_3, n_4)$ is the number of partitions of $(n, n_0, n_1, n_2, n_3, n_4)$ into distinct parts of the following kind:

$$(16) \quad \left\{ \begin{array}{l} (u, u+\epsilon, u+\epsilon, u-\epsilon, u, u), \quad (u, u+\epsilon, u, u+\epsilon, u-\epsilon, u), \\ (u, u+\epsilon, u, u, u+\epsilon, u-\epsilon), \quad (u, u+\epsilon, u-\epsilon, u, u, u+\epsilon), \end{array} \right.$$

where $u = 1, 3, 5, \dots$ and $\epsilon = \pm 1$. Thus (13) becomes

$$(13)' \quad 2 \sum_{n, n_0, \dots, n_4=0}^{\infty} \alpha(2n, n_0, n_1, n_2, n_3, n_4) x^{2n} x_0^{n_0} \dots x_4^{n_4}.$$

On the other hand, if we put

$$(17) \quad \prod_{n=1}^{\infty} \prod_{1, 2, 3, 4} (1 + x^{2n-1} x_0^{2n} x_1^{2n-2} x_2^{2n} x_3^{2n-1} x_4^{2n-1}) \\ (1 + x^{2n-1} x_0^{2n-2} x_1^{2n} x_2^{2n-2} x_3^{2n-1} x_4^{2n-1}) \\ = \sum_{n, n_0, \dots, n_4=0}^{\infty} \beta(n, n_0, n_1, n_2, n_3, n_4) x^n x_0^{n_0} x_1^{n_1} x_2^{n_2} x_3^{n_3} x_4^{n_4},$$

it is clear that $\beta(n, n_0, n_1, n_2, n_3, n_4)$ is the number of partitions of $(n, n_0, n_1, n_2, n_3, n_4)$ into distinct parts of the following kind:

$$(18) \quad \left\{ \begin{array}{ll} (u, u-\epsilon, u+\epsilon, u-\epsilon, u, u), & (u, u-\epsilon, u, u+\epsilon, u-\epsilon, u), \\ (u, u-\epsilon, u, u, u+\epsilon, u-\epsilon), & (u, u-\epsilon, u-\epsilon, u, u, u+\epsilon), \end{array} \right.$$

where $u = 1, 3, 5, \dots$ and $\epsilon = \pm 1$.

Note that in comparing (16) and (18) the only change is the sign of ϵ in the second blank.

Thus (14) becomes

$$(14)' \quad 2 \sum_{n, n_0, \dots, n_4=0}^{\infty} \beta(2n, n_0, n_1, n_2, n_3, n_4) x^{2n} x_0^{n_0} \dots x_4^{n_4}.$$

Comparing (14)' with (13)' we get

$$(19) \quad \alpha(2n, n_0, n_1, n_2, n_3, n_4) = \beta(2n, n_0, n_1, n_2, n_3, n_4),$$

that is, the number of partitions of

$$(2n, n_0, n_1, n_2, n_3, n_4)$$

into distinct parts (18) is equal to the number of partitions into distinct parts (16).

If in place of (10) and (11) we take

$$q = x_0 x_1 x_2 x_3 x_4$$

and

$$a = x_1^{-1} x_2 x_3 x_4, \quad b = x_1 x_2^{-1} x_3 x_4, \quad c = x_1 x_2 x_3^{-1} x_4, \quad d = x_1 x_2 x_3 x_4^{-1},$$

which implies

$$a' = x_1^2, \quad b' = x_2^2, \quad c' = x_3^2, \quad d' = x_4^2,$$

we get another result like (16) concerning partitions of vectors (n, n_1, n_2, n_3, n_4) ; however the 'parts' are less symmetrical than (16) and (18).

REFERENCES

- [1] L. CARLITZ, *A note on the Jacobi theta formula*, Bulletin of the American Mathematical Society, vol. 68 (1962), pp. 591-592.
- [2] M.S. CHEEMA, *Vector partitions and combinatorial identities*, Mathematical of Computation, vol. 18 (1964), pp. 414-420.
- [3] E.T. WHITTAKER and G.N. WATSON, *Modern Analysis*, fourth edition, Cambridge, 1927.
- [4] E.M. WRIGHT, *An enumerative proof of an identity of Jacobi*, Journal of the London Mathematical Society.

Pervenuta alla Segreteria dell'U.M.I.
il 4 agosto 1966.